
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s IMPERIAL FASTNERS PRIVATE LIMITED, BEHRAMPUR ROAD, KHANDSA BEHIND HREC WORKSHOP

GURGAON Haryana is registered at Ordnance Factory Board for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Vehicle Factory Jabalpur PLAIN NUT M12 X 1 POINT 75 IS 1364 1992 PART 3

P 8 GALVD AND YELLOW PASSIVATED DRG

PART NO L 3011218[90]

23-02-2019

2 U BOLT FRONT[90] 23-02-2019

3 U BOLT REAR[90] 23-02-2019

4 HEX HEADED BOLT M 12 X 1.75 X 50 MM[90] 23-02-2019

5 HEX HEADED BOLT 1/2[90] 23-02-2019

6 HEX HEAD HIGH TENSILE BOLT[90] 23-02-2019

7 Hex bolt 3 by 8 UNF one and half inch Bolt with sun

lock nut and spring washer high tensile[90]

23-02-2019

8 HEX HD NUT[90] 23-02-2019

9 HEX NUT M16 X 2 IS1364[90] 23-02-2019

10 NUT CASTLE NUT[90] 23-02-2019

11 HEX NUT M10 TO IS 1364[90] 23-02-2019

12 SELF LOCK NUTS[90] 23-02-2019

13 HEX NUT M8 IS 1364[90] 23-02-2019

14 HEX HEAD NUT M12 TO IS1364[90] 23-02-2019

15 BOLT M12 X 1 point 75 X 95[90] 23-02-2019

16 HEX SELF LOCK NUT IS 1364[90] 23-02-2019

17 PLAIN WASHER DIA 10 IS 5370[90] 23-02-2019

Page 1/3



18 CASTLE NUT M10 IS 2232[90] 23-02-2019

19 HEX BOLT IS 1364[90] 23-02-2019

20 HEX HD BOLT IS1363[90] 23-02-2019

21 HEX HD BOLT M8X25L IS 1363[90] 23-02-2019

22 HEX HEADED BOLT M6 1 1 12 MM[90] 23-02-2019

23 HEX HEADED BOLT M 20 45 MM[90] 23-02-2019

24 HIGH TENSILE HEX BOLT[90] 23-02-2019

25 HEX NUT M6[90] 23-02-2019

26 HEX HEADED BOLT M12 60[90] 23-02-2019

27 BOLT 3 BY 8 X 24 UNF 2A[90] 23-02-2019

28 HEX HD NUT M5 IS1363[90] 23-02-2019

29 HEX HD BOLT M14 35 IS 1364[90] 23-02-2019

30 NUT 3 BY 8 UNF[90] 23-02-2019

31 HEX BOLT M 20 120 MPV[90] 23-02-2019

32 BOLT M 12 20 WITH NUT[90] 23-02-2019

33 HEX HEADED SCREW M8 16 MM[90] 23-02-2019

34 PLAIN NUT M5 IS1364 PART III P 8 GALVD AND

YELLOW PASSIVATED L3010518[90]

23-02-2019

35 HEX HEADED SCREW M 8 40 MM[90] 23-02-2019

36 HEX HEADED SCREW M 8 25[90] 23-02-2019

37 HEX HEADED BOLT M14 2 35 MM[90] 23-02-2019

38 HEX HD BOLT M12 45 IS 1364[90] 23-02-2019

39 HEX BOLT M 12 40 IS 1364[90] 23-02-2019

40 BOLT M12 6G 80 46 019 GOST[90] 23-02-2019

41 BOLT M 6 20 46 019 GOST 7798 70[90] 23-02-2019

42 HEX HD BOLT M5 15 IS 1364[90] 23-02-2019

43 M20 TWO POINT FIVE 55 MM HEX BOLT[90] 23-02-2019

44 HEX BOLT M20X50 IS 1364[90] 23-02-2019

45 HEX BOLT M 12 30 IS 1364[90] 23-02-2019

46 HEX BOLT M10X30 IS 1364[90] 23-02-2019

Page 2/3



47 HEX BOLT M10X20 IS 1364[90] 23-02-2019

48 NYLOC NUT M8 IS 7002 P 8 GALVD AND YELLOW

PASSIVATED[90]

23-02-2019

49 BOLT M20X45 MODIFICATION DRG NO OFPM 640

01 6081 1 A[90]

23-02-2019

50 BOLT M12 X 1 POINT 5 X 125 PART NOL1011225

IS 1364 92 PT I P 8 8[90]

23-02-2019

51 HEX SCREW M6 1 15 IS 1364[90] 23-02-2019

52 HEX BOLT M20 1 POINT 5 40[90] 23-02-2019

53 HEX BOLT M 8X20 IS 1364[90] 23-02-2019

 

Registration No. : DELI04442E

Initial Date of Registration : 23-02-2019

Downloaded at : 27/04/2025 02:27 am

 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 3/3

http://www.tcpdf.org

